Graphs and Limits ... Set 1

Graphs from Limit and Limits from Graphs

1. Use the graph to evaluate the limits below
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a f(4) b lim_f(x) c.lim f(x) d. lim f()
e. f(=2) f. lig_f(x) g li1_1%+f(xj h. lin_lzf(;t')
L () i lm 7 k. lim, F(x) L lm ()
m. f(2) n. lirgl_f(x} o. 1i1£1+f(x) p. linéf{:x}
a. f(4) o Jim £ . lim f() t im0

2. Use the graph to evaluate the expressions below.

a. f(-2) b lim, f(x) c. lim f(x)
d. lim, f(x) e. lm_ f(x) f. lim f(x)
g lim f(x) h. lim f(x) i lim f(x)

i f(3) k. lim, f(x) - lim F(x)
m.lim £ (x) n. lim f(x) o. lim f(x)

p. f(D) g lim_f(x) o f(—4)
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3. Use the graph of the function f(x) to answer each question. Use o, —co, or DNE where appropriate.

a. f(0)=
T b. f(2) =
T * e f(3) -
2
d. lim f(x) =
0 2 3 4 - RIS

f. lim f(x) =
1 g lin;f(xf}=

h. lim f(x) =
r——oo

4. Use the graph of the function f(x) to answer each question. Use o0, —co, or DNE where appropriate.

a f(0) =
b £(2) =
¢ f(3) =
d. Jim f() =

e I =
fo lim F0) =

g. lim f(x) =

X—co




Draw a graph of a function with the give limits.
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lin_l1 fx)=1
lim f(x) = o
x—=0

Jlri_rhr;f{)c) =1

f(2) =2
lim £(x) = oo

lim_f(x) = o
lm, ) = ==
lim f(x) =2
x—=0

lim f(x)=—o
x—=2
i, f(x) = o

lim f(x) = —oo

x— oo

5 lim f(x)=-3 6. lim f(x)=2 7. lim f(x) = o
Iy 700 = =2 Jm, £ =3 i 0 =
lim f(x) =2 lm_f(x) = e lim f(x) = —o
fl1)y=2 lim f(x) =0 lim f(x)=1
y ¥ ¥
A
< ra
N
8. lim f(x)=-o a. lim f(x)=—o 10. lim f(x)=-2

lirg_f(x) =3
lim, £(x) = —1
lin% flx)=0
lim f(x)=2

f@=-1




